[ Efficiency vs vertpos |

~0.02
.018F

0.95

0.9

1072 107 1

10 0?
TP vertr (cr%)

Efficiend

DQMstep3_QCD_default CHECK

~ 0.021

018
016
014
012

.............................................

EHHCIRRCY S 8T

0.01-
0.008
0.006
0.004
0.002
Ql

............

...............

...........................

N 1

.................

Ratio

0.95

0.9, )

[ Efficiency vs. sim PV z |

10 20 30
TP vert z (cm)

~ 0.0
>
50.009
5008
%.007
>
3.006
(3]
£.005
()
0.004
0.003
0.002
0.001}

ol

Ratio

0.95

0.9,

%0 -15 =10 -5 0

5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


